| number of missing inner layers

1 ~— Entries 1516
. Mean 1.384
E : | std Dev 1.25
lo_l 2R R = ["missing_inner_layers
E ¢ [Entries 972
C + | Mean 1.454
_ H Std Dev 1.179
L AR A S [ A A
F N missing_inner_layers
L .| Entries 970
-3 .4, ] Mean 1.448
10 E " std Dev 1.179
1074 = T
-5
10°F
o 1 OEG‘ :u 111
2 E
T 11
© F
1
0.9F
0.88= it - R SOUE S
1 2 3 4 5 6 7 8 9 10

<hits> vs n
w

3

2

2

1

1

§091+{ """ f%f:{{:?f}:f{{::
RN

missing_inner_layers

| number of missing outer layers
missing_outer_layers
1g — Entries 1516
= : : Mean 0.7586
r N : Std Dev 1.429
10_15_ ey ” [ missing_outer_layers
E : : Entries 972
C . et MeaN 1579
_ B H Std Dev 1.787
1072k B B R

F : missing_outer_layers
L H Entries 970
3L Lo mean 1.582
10 E : Std Dev 1.788
1074 SRRREREEEEEEERE SRR SEREERRRET RS SERE RERRRR

8 9 10

=== DQM_V0001_R000000001__Global__
—e— DQM_V0001_R000000001__Global__|
e DQM_V0001_R000000001__Global__|

cmssw1000time__|
mkFitNewOLD1000time__RECO
mkFitNewBinsAdj1000time__RECO

RE

CO

o
!

s

I S

L .......

o TR AT SR

Ratio

10?

10

7| Entries
. | Mean

. | Std Dev

Std Dev
1
hits
. | Entries 970
. | Mean 12.94

Std Dev

0.5

R
&)

10 15 20 25 30 35 40

track hits

1072

1073

10

num_reco_pT

Entries 1697
Mean 2.219
Std Dev 4.724
N num_reco_pT
Entries 1075
: Mean 2.672
E R R Std Dev 6.09
E : : I
= num_reco_pT
r Entries 1072
E R R Mean 2.676
E Std De 6.098
PR
- N
........
2
10



	Contents
	Page 1


